Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-V « EXAMINATION — SUMMER + 2014

Subject Code: 351901 Date: 23-05-2014
Subject Name: Thermal Engineering
Time: 02:30 pm - 05:00 pm Total Marks: 70

Instructions:
1. Attempt any five questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)
5. Draw Figure where necessary.
Q.1 (a) Differentiate between Boiler Mountings and Boiler Accessories. 07
(b)  Explain the working of Lancashire Boiler with simple sketch. 07
Q.2 (a) Differentiate between Fire Tube Boiler and Water Tube Boiler. 07
(b)  Classify Stem Turbine. 07
OR
(b) Differentiate between Impulse Turbine and Reaction Turbine. 07
Q.3 (@) Explain the working of Two Stroke cycle Petrol engine. 07
(b) Differentiate between S.I. engine and C.I. engine. 07
OR
Q.3 (a) Differentiate between Four Stroke Cycle and Two stroke Cycle of 07
I.C. engine.
(b)  Asingle cylinder Two stroke oil engine having following data: 07

Mean effective pressure = 3 bar
Cylinder diameter of the engine = 30 cm.
Length of piston stroke = 40 cm.
Engine Speed = 300 RPM.
Mechanical Efficiency OF the engine = 65 %
Calculate :- (i) Indicated Power in KW.

(i) Brake Power in KW.

Q.4 () What is scavenging in I.C. engine? List out types of scavenging and 07
explain any one with sketch.

(b)  Discuss the effects of emission gases in atmosphere. 07
OR
Q.4 (a) Why we need alternate fuel? List different kinds of alternate fuel. 07
Explain in brief about Biodiesel.
(b) Differentiate between Open cycle and Close cycle Gas Turbine. 07
Q.5 (@) Explain the working of Window Air Conditioner with neat sketch. 07
(b) (i) State Stefen-Boltzman’s Law of thermal Radiation. 07
(ii) Differentiate between Black body and Gary body.
OR
Q.5 (@) What is the function of steam condenser in thermal power plant? 07
Draw with neat sketch main elements of steam condensing plant.
(b)  Why multi-stage compression is used in Air compressor? Give 07

advantages and disadvantages of multi-stage air compression.
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